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NEW QUESTION 1
- (Exam Topic 1)
A user has entered the sequence of commands shown in the exhibit

At which level of the configuration hierarchy would the user be after typing the exit command?

A. [edit]
B. [edit interfaces ge-0/0/0]
C. [edit interfaces ge-0/0/0 unit 01 ]
D. [edit interfaces]

Answer: C

NEW QUESTION 2
- (Exam Topic 1)
Click the Exhibit button

What is the next-hop interface for traffic destined to 172.19.52.101 as shown in the exhibit?

A. ge-0/0/3.0
B. ge-0/0/0.0
C. ge-0/0/2.0
D. ge-0/0/1.0

Answer: D

NEW QUESTION 3
- (Exam Topic 1)
What are two benefits of class of service (CoS)? (Choose two.)

A. CoS can increase the performance of a slow network.
B. CoS can manage traffic congestion
C. CoS can prioritize latency-sensitive traffic
D. CoS can increase network bandwidth.

Answer: BC

NEW QUESTION 4
- (Exam Topic 1)
By default, which Junos directory contains the primary syslog file?

A. /var/syslog
B. /var/home
C. /var/log
D. /var/tmp

Answer: C

NEW QUESTION 5
- (Exam Topic 1)
Click the Exhibit button
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Referring to the exhibit, which statement is correct?

A. Traffic destined to 10.10.102.0/30 will be forwarded to 10.10.101.1.
B. Traffic destined to 10.10.102.0/30 will be load-balanced across both next hops.
C. Traffic destined to 10.10.102.0/30 will be silently dropped.
D. Traffic destined to 10.10.102.0/30 will be forwarded to 10.10.4.2

Answer: D

NEW QUESTION 6
- (Exam Topic 1)
Click the Exhibit button.

Referring to the exhibit, if the router forwards traffic destined for 192.168.77.29, which next hop will be used?

A. 10.10.1.2
B. 10.10.11.2
C. 10.10.0.2
D. 10.10.20.2

Answer: C

NEW QUESTION 7
- (Exam Topic 1)
You want to temporarily apply a candidate configuration to the active configuration and automatically roll back after 10 minutes
In this scenario, which command will accomplish this task?

A. commit at
B. commit confirmed
C. commit check
D. commit

Answer: B

Explanation: 

[edit]
user@host# commit confirmed
commit confirmed will be automatically rolled back in 10 minutes unless confirmed commit complete
#commit confirmed will be rolled back in 10 minutes [edit]
user@host#
https://www.juniper.net/documentation/us/en/software/junos/cli/topics/topic-map/junos-configuration-commit.ht
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NEW QUESTION 8
- (Exam Topic 1)
Click the Exhibit button.

You want to make the OSPF route shown in the exhibit the active route for the 10.10.10.0/24 IP address. Which action is required to accomplish this task?

A. Set the static route to no-readvertise.
B. Set the OSPF route preference to 4.
C. Set the static route preference to 0
D. Set the OSPF metric to 0

Answer: B

NEW QUESTION 9
- (Exam Topic 1)
Click the Exhibit button.

You have applied the policy shown in the exhibit as an import policy to your BGP group In this scenario, what will happen when the router receives the
192.168.30.48/32 route?

A. It will be sent to the default BGP policy
B. It wall match term-1 and be accepted.
C. It wall match term-2 and be accepted
D. It will match term-2 and be rejected.

Answer: D

NEW QUESTION 10
- (Exam Topic 1)
Which two statements describe firewall filters? (Choose two.)

A. Firewall filters are applied to interfaces.
B. Firewall filters are applied to security policies
C. Firewall filters provide stateless security.
D. Firewall filters provide stateful security.

Answer: AC

NEW QUESTION 10
- (Exam Topic 1)
Which address correctly represents a valid abbreviation for the 2bfc:0000:0000:0000:0217:0000:fe8c:5c85/128 IPv6 address?
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A. 2bfe::217:0:fe8c:5c85/128
B. 2bfe:0:217:-fe8c:5c85/128
C. 2bfe::0217::fe8e:5e85/128
D. 2bfe:0:217:0:fe8e:5¢85/128

Answer: A

NEW QUESTION 15
- (Exam Topic 1)
You are asked to configure filter-based forwarding Which routing-instance type would you use?

A. VRF
B. virtual router
C. non-forwarding
D. forwarding

Answer: D

NEW QUESTION 16
- (Exam Topic 1)
Which operational mode command will provide real-time usage statistics for the ge-0/0/0 interface?

A. show interfaces ge-0/0/0 extensive
B. monitor interface traffic
C. show interfaces statistics
D. monitor traffic interface ge-0/0/0

Answer: B

NEW QUESTION 18
- (Exam Topic 1)
What are two characteristics of UDP? (Choose two.)

A. UDP is connection-oriented.
B. UDP packets are sent best-effort.
C. UDP is more reliable than TCP.
D. UDP operates at the transport layer.

Answer: BD

NEW QUESTION 19
- (Exam Topic 1)
You are asked to configure a Junos device to perform regular configuration backups
Which feature will you configure under the [edit system) hierarchy to accomplish this task?

A. archival
B. backup-router
C. syslog
D. tracing

Answer: B

NEW QUESTION 21
- (Exam Topic 2)

Which command produced the output shown in the exhibit?
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A. Show interfaces summary
B. Show interfaces filters
C. Show interfaces extensive
D. Show interfaces terse

Answer: D

NEW QUESTION 26
- (Exam Topic 2)
Which command allows you to verify the syntax and consistency of your configuration
without actually activating your configuration?

A. User Interfaces
B. commit verify
C. commit check
D. check commit
E. commit no-activate

Answer: C

NEW QUESTION 30
- (Exam Topic 2)
Referring to the exhibit,

what happens when ping packets are sent to management interface address of the local router?

A. The ping packets are silently discarded
B. An ICMP unreachable message is returned
C. The Ping packets are accepted
D. An ICMP redirect message is returned

Answer: D

NEW QUESTION 34
- (Exam Topic 2)
Which two statements are correct about the inet.0 routing table? (choose two.)

A. It is used for populating the Ethernet switching table.
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B. It stores information learned from routing protocols and other sources.
C. It is used for populating the forwarding table.
D. It is used for populating the forwarding policy.

Answer: BC

NEW QUESTION 37
- (Exam Topic 2)
How does the PFE determine how to forward transit traffic?

A. The PFE performs a destination lookup based on its own routing table.
B. The PFE determines network destinations itself based on the RE’s routing table.
C. The PFE uses the following table provided by the RE.
D. The PFE uses the routing table provided by the RE.

Answer: C

NEW QUESTION 38
- (Exam Topic 2)
How does the PFE determine how to forward transit traffic?

A. The PFE determines network destinations itself based on the RE's routing table.
B. The PFE uses the forwarding table provided by the RE.
C. The PFE performs a destination lookup based on its own routing table.
D. The PFE uses the routing table provided by the

Answer: B

NEW QUESTION 43
- (Exam Topic 2)

While working on a Junos device, you receive the message shown in the exhibit. In this scenario, what should you do to stop the shutdown process?
In this scenario, what should you do to stop the shutdown process?

A. Issue the request system halt in 0 command
B. Issue the request system power-off in 0 command
C. Issue the clear system reboot command
D. Issue the clear system commit command

Answer: C

Explanation: 
https://www.juniper.net/documentation/en_US/junos/topics/reference/command-summary/clear-system-reboot.h

NEW QUESTION 45
- (Exam Topic 2)
Which command verifies configuration syntax without applying the changes?

A. commit and –quit
B. commit check
C. commit comment
D. commit confirmed

Answer: B

NEW QUESTION 50
- (Exam Topic 2)
How would you change the display so the display so that 40 lines will be displayed in the terminal program when you are logged into a Junos device?

A. Issue the set cli screen-length 40 command from configuration mode.
B. Set the display options in your terminal program.
C. Issue the set cli screen-length 40 command from operational mode.
D. Set the windows size of your terminal program.

Answer: C
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NEW QUESTION 51
- (Exam Topic 2)
Which command allows you to view the raw packet data of interface ge-1/0/5?

A. monitor interface traffic ge-1/0/5
B. monitor traffic interface ge-1/0/5
C. show interface ge-1/0/5 media
D. show interface ge-1/0/5 extensive

Answer: B

NEW QUESTION 55
- (Exam Topic 2)
Which two statements describe PFE functions are true?

A. The PFE implements rate limiting using policers
B. The PFE stores the master copy of the layer 2 and layer 3 forwarding tables
C. The PFE provides access to the CLI and Jweb
D. The PFE stores a local copy of the layer 2 and layer 3 forwarding tables

Answer: AD

NEW QUESTION 59
- (Exam Topic 2)
Which two statements describe IPv4 default behavior for BGP? Choose Two

A. All Active BGP routes are exported to configured EBGP neighbors
B. All BGP routes are exported to configured EBGP neighbors
C. All BGP routes are imported into the inet.0 routing table
D. All BGP routes are imported into the inet4.0 routing table

Answer: AC

NEW QUESTION 64
- (Exam Topic 2)
What is the default location of the syslog file on Junos devices?

A. /var/log/
B. /var/tmp/
C. /var/home/
D. /var/db/

Answer: A

NEW QUESTION 69
- (Exam Topic 2)
Click the Exhibit button.

Which statement is correct regarding the configurration shown in the exhibit?

A. When the ospf-trace file has created five files, it will stop logging additional information.
B. When the ospf-trace file reaches the 64 KB file size, it is renamed and begins a new file.
C. The ospf-trace file will automatically replace any existing trace file with the same name.
D. Timestamp information will not be included for each line of ospf-trace

Answer: B

NEW QUESTION 73
- (Exam Topic 2)
Referring to the exhibit.
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which action would synchronize a new router's clock with the NTP Server? Or
Which action would synchronize the local router's clock with the NTP server?

A. Reboot the router.
B. Configure the NTP server using the set server 172.25.11.254 configuration command under the [edit system ntp] hierarchy.
C. Configure the correct NTP trusted kay using the set trusted-key <key-value> configuration command under the [edit system ntp] hierarchy.
D. Issue the set date ntp operational

Answer: D

NEW QUESTION 76
- (Exam Topic 2)
What is a valid IPv6 address?

A. 00:05:85:23:45:67
B. 127.0.0.1
C. 2001:0db8:3000:2215:0000:0000:aaaa:llll
D. 49.0001.0192.0168.1001.00

Answer: C

NEW QUESTION 78
- (Exam Topic 2)
Host A is communicating with Host B through a Layer 2 switch.
What is the highest layer that the switch will inspect the traffic in this scenario?

A. Data Link
B. Transport
C. Network
D. Session

Answer: A

NEW QUESTION 79
- (Exam Topic 2)
What configuration parameter on a Junos device modifies the default next-hop resolution behavior of a static route?

A. Resolve
B. No-readvertise
C. Passive
D. Preference

Answer: A

NEW QUESTION 82
- (Exam Topic 2)
What are two examples of transit traffic? (Choose two.)

A. SFTP traffic that enter one interface and is destine for another interface on the local router.
B. SCP traffic that enters one interface and exit another interface on the local router.
C. SFTP traffic that enters and exits the same interface on the local router.
D. SCP traffic that is destined for the router's loopback interface.

Answer: BC

NEW QUESTION 85
- (Exam Topic 2)
Your configuration contains the static routes shown in the exhibit.

Which command will successfully remove the 166.74.67.131 static route?
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A. delete routing-options static route 166.74.67.131/32 qualified-next-hop 166.113.123.37 interface irb.222
B. delete routing-options static route 166.74.67.131/32
C. delete routing-options static route 166.74.67.131/32 qualified-next-hop 166.113.123.37
D. delete routing-options static route 166.74.67.131/32 qualified-next-hop

Answer: B

NEW QUESTION 88
- (Exam Topic 2)
What are two modes of unicast reverse path forwarding? (Choose two.)

A. Strict
B. High
C. Low
D. Loose

Answer: AD

Explanation: 
There are two modes of unicast RPF, strict mode, and loose mode. The default is strict mode, which means t switch forwards a packet only if the receiving
interface is the best return path to the packet's unicast source address.
https://www.juniper.net/documentation/en_US/junos/topics/topic-map/l3-vpns-unicast-reverse-path.html#:~:text

NEW QUESTION 89
- (Exam Topic 2)
Which three protocols are connectionless? (Choose three.)

A. ICMP
B. Telnet
C. SSH
D. TFTP
E. DNS

Answer: ADE

NEW QUESTION 91
- (Exam Topic 2)
You have received a request from the user, SecurityTeam, to notify their terminal connection only when someone commits a change to the configuration of a
specific networking device. Which command would you input in this scenario?

A. set system syslog user SecurityTeam change-log alert
B. set system syslog user SecurityTeam change-log any
C. set system syslog user SecurityTeam interactive-commands any
D. set system syslog user SecurityTeam interactive-commands

Answer: B

NEW QUESTION 92
- (Exam Topic 2)
By default, which character indicates the UNIX shell prompt?

A. %
B. $
C. >
D. #

Answer: A

NEW QUESTION 94
- (Exam Topic 2)
Which command displays the output shown in the exhibit?

A. show chassis temperature-thresholds
B. show chassis environment
C. show chassis hardware
D. show chassis alarms

Answer: A
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NEW QUESTION 98
- (Exam Topic 2)
How many IP addresses can be configured on a given interface?

A. one primary and one secondary
B. one
C. as many as you want
D. one primary and multiple secondary

Answer: C

NEW QUESTION 102
- (Exam Topic 2)
Which two statements about the Junos OS are true? (Choose two.)

A. It uses a different software source code base for each platform.
B. It supports Java for automation on all platforms.
C. It supports XML for automation on all platforms.
D. It uses the same software source code base for all platforms.

Answer: CD

NEW QUESTION 105
- (Exam Topic 2)
Which statement is correct regarding exception traffic on Junos devices?

A. The Junos OS does not provide congestion control for exception traffic sent to the RE.
B. The built-in rate limiter for exception traffic is configurable.
C. All exception traffic destined for the RE is sent over the out-of-band management link.
D. The Junos OS has a built-in rate limiter for exception traffic.

Answer: D

NEW QUESTION 107
- (Exam Topic 2)
Which two conditions must exist in a Junos device for traffic to transit the device to a specific destination? (Choose two.)

A. A routing table entry for that destination must exist.
B. A firewall filter must exist to allow traffic to reach that destination.
C. A forwarding table entry for that destination must exist.
D. A routing policy must be in place on the device.

Answer: AC

NEW QUESTION 109
- (Exam Topic 2)
Which statement is true when using the allow command and deny command attributes when creating user permissions?

A. If you allow and deny the same commands, the Junos OS will fail the commit check.
B. If you allow and deny the same command, the allow command permissions take precedence over the deny command permissions.
C. If you specify a regular expression for allow and deny with two variants of a command, both will be ignored.
D. The all login class permission bits take precedence over allow and deny when a user issues the rollback command.

Answer: B

NEW QUESTION 114
- (Exam Topic 2)
A BGP route does not match any term within a routing policy applied to BGP. Which action is taken by the router for this route?

A. It discards the route by the implicit ‘discard all’ at the end of the policy.
B. It advertises the route according to BGP rules.
C. It discards the route by the default routing protocols policy.
D. It discards the route because it is unable to match the route to a configured action.

Answer: B

NEW QUESTION 118
- (Exam Topic 2)
What are two configurable physical interface properties? (Choose two.)

A. MTU
B. address
C. protocol family
D. link mode

Answer: AC
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NEW QUESTION 119
- (Exam Topic 2)
Which two conditions must exist in a Junos device for traffic to transit the device to a specific destination? Choose Two

A. A forwarding table entry for that destination must exist
B. A routing policy must be in place on the device
C. A firewall filter must exist to allow traffic to reach that destination
D. A routing table entry for that destination must exist

Answer: AD

NEW QUESTION 124
- (Exam Topic 2)
When multiple users are editing the configuration on a Junos device, What is the default behavior when a user issues a commit command?

A. The user’s configuration changes are committed, other users configuration changes are still pending
B. The user’s configuration changes are committed, other users will be exited from the configuration mode
C. All valid configuration changes made by all users will take effect
D. The user will receive an error message disallowing a commit of the configuration

Answer: A

NEW QUESTION 126
- (Exam Topic 2)
Which two statements describe a routing policy?

A. Active and inactive routes are available for export from the routing table.
B. A routing policy allows you to control the flow of information into the routing table.
C. Routing policy are used to choose which routes are sent to neighbors using dynamic routing Protocols
D. Attribute changes applied to export policies always affect the local routing table

Answer: BC

NEW QUESTION 127
- (Exam Topic 2)

Referring to the exhibit, what is the expected behavior for login attempts from users that receive a reject form from both the RADIUS and TACACS+ servers?

A. Users are prompted for a local authentication password.
B. Users are not prompted for a local authentication password.
C. Users are prompted for the root authentication password.
D. Users are granted limited access to the device using a guest account.

Answer: B

Explanation: 
Local Auth is not included in the authentication-order. It will only consult the local auth if it doesn't recieved any reply from the RADIUS and TACAS from a certain
time. In this case the RADIUS and TACAS rejects the Authentication therefore no need to consult the local auth.

NEW QUESTION 128
- (Exam Topic 2)
Which parameter of the monitor traffic command should be used with caution when considering storage space on a Junos device?

A. detail
B. write-file
C. layer2-headers
D. extensive

Answer: B

NEW QUESTION 129
- (Exam Topic 2)
When a system process encounters an error, how does the Junos OS protect the other processes from being impacted?

A. The Junos OS executes only one process at a time.
B. Each routing protocol runs as an individual process.
C. Each process operates in its own shared memory space.
D. The Junos OS executes multiple processes simultaneously.

Answer: C

Explanation: 
http://juniper-basic.blogspot.com/2017/02/juniper-basic.html
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Junos OS functionality is compartmentalized into multiple software processes.Each process handles a portion of the device’s functionality. Each process runs in
its own protected memory space, ensuring that one process cannot directly interfere with another. When a single process fails, the entire system does not
necessarily fail.This modularity also ensures that new features can be added with less likelihood of breaking current functionality.The Junos OS is the trusted,
secure network operating system powering the high-performance network infrastructure offered by Juniper Networks. The Junos kernel is based on the FreeBSD
UNIX operating system, which is an open-sourcesoftware system.

NEW QUESTION 132
- (Exam Topic 2)
Which command is used to validate the syntax of a configuration without applying the
configuration?

A. commit check
B. commit confirmed
C. commit synchronize
D. commit and-quit

Answer: A

NEW QUESTION 137
- (Exam Topic 2)
Which set of IP addresses are in the same subnet?

A. 185.114.16.91/28 and 185.114.16.96/28
B. 185.114.16.77/28 and 185.114.16.82/28
C. 185.114.16.40/28 and 185.114.16.45/28
D. 185.114.16.59/28 and 185.114.16.82/28

Answer: C

NEW QUESTION 139
- (Exam Topic 2)
Which keystroke is used to auto-complete user-defined variables?

A. Spacebar
B. Home
C. Esc
D. Tab

Answer: D

NEW QUESTION 143
- (Exam Topic 2)
You must configure the 2bfc:0000:0000:beef:0217:cbff:0000:5c85 IPv6 address on your device. In this scenario, which three addresses are correct? (Choose
three.)

A. 2bfc::beef:217:cbff:0:5c85
B. 2bfc:0:0:beef:0217:cbff:0:5c85
C. 2BFCnBEEF:0217:CBFF:0:5C85
D. 2bfc:0:beef:0217:cbff:0:5c85
E. 2BFC::BEEF:217:CBFF::5C85

Answer: ABC

NEW QUESTION 148
......
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